¥ H B HIMBY7A

FfER:SM07E09811H wEHYNV—057
NEAL K 4% |OUT IN GRHDCENET e NEAL K 4% OUT IN | GRHDCFNET =5
IR fE— 41 | 47 | 88 |25.0 |63.0 A& 51 @ik EA 48 | 45 | 93 |17.0 |76.0
I BF 47 | 46 | 93 /126.0 |67.0 | AEIN4vF33 52 |HFr & 49 | 49 | 98 22.0 76.0
XN HIF 44 | 44 | 88 121.0 |67.0 [IN&y}33.5 53 |[ZEH % 52 | 52 |104 [28.0 |76.0
HH  ®5A 43 | 42 85 |17.0 |68.0 |BG 54 |J\KZE FA 47 | 48 | 95 |19.0 76.0
BA  R=AT 45 | 44 | 89 |21.0 |68.0 55 |FeA  Hlak 46 | 53 | 99 |23.0 76.0
Ml FE 49 | 45 | 94 |25.0 [69.0 56 |1T8& 1EE 51| 43| 94 |17.0 |77.0
[FEH WoF 44 43 87 |18.0 [69.0 57 |#O &R=E 52 | 48 {100 23.0 |77.0
A BEX 43 | 43 | 86 |17.0 [69.0 58 HX AZE 53 | 50 (103 |26.0 |77.0
AR & 44 | 46 | 90 |21.0 [69.0 59 |[R& HIL 48 | 48 | 96 |19.0 |77.0
10 |[FH BEi 44 | 48 | 92 |23.0 |69.0 60 BEO E&E 51| 45| 96 18.0 78.0
11 A =2 40 | 46 | 86 |17.0 |69.0 61 )IlE B 52 | 47 | 99 |21.0 78.0
12 WmH = 42 | 50 | 92 |23.0 |69.0 62 /IR (& 50 | 48 | 98 |20.0 78.0
13 8 EX 37 | 48 | 85 |16.0 [69.0 63 |#1 < 48 | 49 | 97 |19.0 |78.0
14 |B3H BB 51| 47 | 98 |28.0 |70.0 64 |FBKH EX 46 | 49 | 95 |17.0 78.0
15 |hngE FBE 43 | 43| 86 |16.0 |70.0 65 |&F 47 | 50 | 97 [19.0 |78.0
16 |h0EE B 45 | 46 | 91 |21.0 |70.0 66 HH B— 42 | 53| 95(17.0 |78.0
17 #R WE 49 | 50 | 99 /29.0 |70.0 67 ZH BZ 54 | 48 [102 [23.0 |79.0
18 |#%&% = 41 | 47 | 88 |18.0 |70.0 68 [tk4 K —& 50 | 48 | 98 19.0 79.0
19 HH & 47 | 44 | 91 |20.0 |71.0 69 |hNEE HETF 48 | 50 | 98 [19.0 |79.0
20 AR BT 49 | 49 | 98 |27.0 |71.0 70 |fFEE ER 49 | 53102 |23.0 |79.0
21 Bk RiE 45 46 | 91 20.0 |71.0 71 B EEF 58 | 52 |110 130.0 |80.0
22 HE =E 40 | 48 | 88 |17.0 |71.0 72 |'EH EIE 52 | 47 | 99 19.0 80.0
23 |SF&R OERE 46 55 101 (30.0 |71.0 73 HxH EE 50 | 52 102 |22.0 |80.0
24 |=# = 47 | 42 | 89 [17.0 |72.0 74 |INEF BETF 46 | 54 1100 [19.0 |81.0
25 /B E= 50 | 45| 95 (23.0 |72.0 75 |&EE FI 56 | 48 |104 [22.0 |82.0
26 HR BRF 50 | 48 | 98 |26.0 |72.0 76 Lk EE 49 | 52 [101 |19.0 82.0
27 |[MNE 44 ' 47 1 91 19.0 |72.0 7 AR MW 53 | 52 |105 |22.0 |83.0
28 /MY E 43 | 47 | 90 |18.0 |72.0 78 EIE F(E 48 | 53 [101 |18.0 83.0
29 %M BE 45 | 50 | 95 (23.0 |72.0 79 | RF WF 55 | 52 [107 [23.0 |84.0
30 |EBE XK 49 | 47 | 96 |23.0 |73.0 80 |#wA AE 52 | 51 103 |18.0 85.0
31 KE 44 46 | 90 |17.0 |73.0 81 |HEWR BF 57 | 58 |115 130.0 |85.0
32 | Bl 1R— 43 | 46 | 89 |16.0 |73.0 82 |JIIE & 53| 52 {105 |[19.0 86.0
33 |ER #EF 45 | 53 | 98 |25.0 |73.0 83 By =& 51 | 52 [103 [17.0 |86.0
34 k¥ HiREF 54 | 48 [102 |28.0 |74.0 84 |dtk R— 65 | 60 [125 [30.0 |95.0
35 |HE A 53 | 47 /100 [26.0 | 74.0 85 |mJIl BSIE 56 | 58 [114 [19.0 |95.0
36 | 1THE A7 | 43| 90 |16.0 |74.0 G iy 2K 43 | 43| 86 (23.0 |63.0 | #FSH0
37 i BX A7 44 91 |17.0 |74.0 anm IEH 2RA& 46 | 47 | 93 130.0 [63.0 [ F&N
38 |kFE FF 46 45 91 17.0 |74.0 aigE |k =7 A7 | 45| 92 |27.0 |65.0 [ FSN
39 =H EEF 46 45 91 |17.0 |74.0 @i BRIX BT 49 | 51 [100 [30.0 |70.0 | FI&N
40 ZEA R 50 | 44 | 94 /19.0 |75.0 asm | RE =T 51 | 54 |105 |30.0 |75.0 |#1&H0
41 EE 1TIf 48 45 93 /18.0 |75.0 anE | &F BT 46 | 55 101 |26.0 |75.0 |41=N
412 &F R 47 | 45| 92 |17.0 |75.0 amm MR (548 48 | 45| 93 |16.0 |77.0 |gi[E [2025.2]
43 |B®WN BT 47 | 45 92 |17.0 |75.0 afeE MR BT 52 | 50 [102 |25.0 |77.0 |&7E [2025.3]
44 | fote IETF 53 | 52 |105 [30.0 |75.0
45 1 SH EA 48 47 | 95 (20.0 |75.0
46 |IRE #MBx A7 49 | 96 |21.0 |75.0
47 Bk =TT 45| 51 | 96 |21.0 |75.0
48 \RKiHx TiE 44 | 50 94 [19.0 |75.0
49 HEE = 52 | 45 | 97 |21.0 |76.0
50 A8H EBETF 54 | 50 |104 [28.0 |76.0

(A EIHDCP [BEIEMI]~Yy F> 7%y (I N)



